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Examination, June/July 2023
:::::

Network Analyg_is

Tirne: 3 hrs. ', 1i,,, *Max. Marks: 80
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'' **fu
Note: Answer any FIVE full questions, c.S'ooi g ONEfull questionffip,fu each module.

Module-l
I a. Reduce the network shown irl',Fi&,'Q1(a) into a single..vo-lt&ge souroe

resistance using source shift and source transformation.
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2 a. For the network shown in

rie. Q2(a) MV

b. Find the Power delivered by the dependent'o ent source shown

r5EC34

in series with a

(08 Marks)
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Fie. Ql(a)

b. Using Star - delta transformation, detemiine the resistance between A and B for the network
shown in Fig. Ql(b) (08 Marks)

Fie. Q1(b) ''f'

:,4

(06 Marks)
in Fig. Q2(b). (06 Marks)

Fig Q2(b)

Find ir using nodal analysis for the circuit shown in Fig. Q2(c).
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(04 Marks)

Fig. Q2(c)
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4a.
b.

Module-2
3 a. Use Superposition theorem to find Viin the circuit tlro,vn,ir Fig' Q3(a)'

Fie. Q3(a) Vx

b. State and prove Thevenin's theorem.

Ffut.tr 'K' is changed from position a to b at t : 0.

9l att=O*. IfR: lkQ, u= lH , C:0.lpf and V: l00V' Assutnc
dt'

V"(0) = 0V.
r' ' (oE Marks)

R.

OR
State and prove Millman's theore,.gn " r' (08 Marks)

For the circuit shown in Fig. q1q)ifrrO the voltage V* and verify the Reciprocity theorem'
{n"' r': (08 Marks)
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(08 Marks)

(Otl Marks)
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"::i Module-4
7 a. For a series RLC circuit.:$hwn in Fig. Q7(a),

frequency, Band width'AFd Quality factory.

(08 Marks)
(08 Marks)

frnd the Resonant liequency , Half power
(08 Marks)
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Fie. Q7(a)
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b. Show that Band width of series RLC resonant circuit is%#ff.
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oR *d.
8 a. A resonant circuit with capacitor is in par4t'l$Nffth series con

inductance. Derive the expression for Resopaat ffiequency (f.').

b. For the parallel resonant circuit showu tfiup'ib. Q8(b). Find Io

Fie. Ql0(a)

q t.4* ..'l
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(0t Marks)

of resistance and
(08 Marks)

,Fo and dynamic
(0E Marks)

(08 Marks)
(08 Marks)

(0E Marks)

Zn: Zn: l0{1.
(08 Marks)

9a.
b.

10 a.

Fie Q8(b)

Fie.'Qe(b) l-rr-Vr-vl
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b. rik are Z,n = 20{lThe Z - parameters of a"two''lport netwt

Find Y and ABCD parame.ters of the netwoit.
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